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Section : Quantitative abilities

Ans X 1. 108 T
X2 144 n
V3135 1t
X 4126 T

Q1 & 77 3T T F HYUR F 8I% 81n em? & T ST FE 12 em ¥ OF F 9% T
SF (cm? H) T HifT

Question ID : 8161615350
Status : Answered
Chosen Option : 3

Ans

v

&2

53

.

Q.2 Fmgor 3x—20y—2=0 3T 11x—5y+61=0 1 a1F, P(a,b) W Ta=aia =T ¥
(a® + b? —ab)/(a® — b® + ab) T AA AT HrATI

31
41
5

7
41

31
37

35

Question ID : 8161615332
Status : Answered

Chosen Option : 1

Ans X 1.
52
53
v

Q3 ghivcdaammitamdmagcd2xMsdiasditbastga 48 ok d c 1057 E ¢
A d @7 sitEe A fifew

35
36
38
40

Question ID : 8161615325
Status : Answered
Chosen Option : 4
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a4 _. 15(J10+v5)
Vi0+y20+Va0—5—B0 T ——

At 153+ 242)
X 25245
K 354242
X 41003 + 24/5)

& FTET 2

Question ID : 8161615290
Status : Answered
Chosen Option : 1

Q5 o &z = 307 #, @@ AB F' 3@ & T Toud U fig P aw ffea fRar o § R P
gea W oy fig C W 9 W@ 1 3fE 4BPT = 36° §, &Y £BCP # AT A Hiew

Ans x1_ 240
V2 27°
< 3 36°
<4 18°

Question ID : 8161615345
Status : Answered
Chosen Option : 2

Q6 A foehr w7 20%, 4 T & U H wohew ¥, B 3 Fd 1 332 %, 10 T F @ A wHr §1 7 9
o & v vk @y w1 F E C A9 F H 6 Em F @ v 21 B R C vw oy 31w oA
75% R RE # 9@ e

A 10 Re
X229 =
X315 e
<412 T

Question ID : 8161615321
Status : Answered

Chosen Option : 1

Q7 AR FaH I5ERA AR TFT B AR A F 25% 3w g g i ¢ B A gaew &
0% FF FE i AR CwaTIRF s Rvad s iR cC i o g &1 A i B
T WY A FE # e G # qu s

Ans ?(1. 3% fﬁ?-l'
X2 4 Ra
v3 3 o
X2 fm

Question ID : 8161615324
Status : Answered
Chosen Option : 3
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Q8 APQR &, O 3wadg & 3R 2P = 42° &1 & £QOR & AT 71T Hfaw)
Ans X 1.132°

vz 111°

/<3 121°

< 4 138°

Question ID : 8161615335
Status : Answered
Chosen Option : 2

Q.9 Study the given graph and answer the question that follows.

Break up for distribution (degree wise) of the employees
working in five departments (A, B, C, D and E) in a company

sA 2B «C sD uE

Total number of employees = 3000

If 20% of the employees working in department E are transferred to department A, then the difference between the
number of employees in A and 124% of the employees working in department C is:

Ans X 1. 50
V2 54
< 3 64
< 4 60

Question ID : 8161615377
Status : Answered
Chosen Option : 2

Q.10 A B # 20% ¥ &TH 9T 1S T&r 9= &1 B 3% C & 30% & o1 o¢ a=ar &1 C =8 D & 10% $r
Ffer o d=ar §1 afE Bow o A Fr geen F 380 S O D 59 e F whea &7

Ans  of 1. T702
X 2 3680
< 3 700
X 4 7652

Question ID : 8161615307
Status : Answered
Chosen Option : 1
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QM = =afFa el foftas offr & sr= S 4 $ @9 3 : 4 © 5 F 3gae & fenfem @ &1 afy
SHA SW TR FS: 2 - % oA & T R @, & 5 3w 92 1, W 9w wea wa

3 4 5

T e wn, 3% 31,188 Mo & ofr @ #) 79 e
Ans 1. 8,768
< 2 6,840
< 3. 7,008
< 4 5640

Question ID : 8161615300
Status : Answered
Chosen Option : 1

QA2 frg 3=l 3T T 2% T &1 Ofy sWERT aw F 26% #r giE A £ A @ F 20% # i
21 &, a7 3 s99 F 50% F g @ 1 x = A A9 A

Ans X1, 25
X2 30
v's 20
<410

Question ID : 8161615296
Status : Answered
Chosen Option : 3

Q.13 s Tufas Twse o sem BA st DE &t F 9 o % fw Reae frar smar 1 2EFA &1
A AT Hif=T

Ans 51 §A°
X< 2 80°
X3 72°
v 36°

Question ID : 8161615347
Status : Answered
Chosen Option : 4

Q.14  The areas of three adjacent faces of a cuboidal tank are 3 m?, 12 m? and 16 m?. The capacity of the tank, in litres, is:

Ans X 1. 48000
& 2. 36000
3. 72000
v 4. 24000

Question ID : 8161615359

Not Attempted and

Status : Marked For Review

Chosen Option : --
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Q.15 InAABC. £A=90° AD is the bisector of ZA meeting BC at D, and DE | AC at E. IfAB = 10 cm and AC = 15 cm,
then the length of DE, in cm, is:

Ans X 1. 6.25
X275
<38
6

Question ID : 8161615340

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.16 fahr siw ger o Fr Beam SR S0 7 Mg 3 4 ¥ AR TEH IF T8 A9 (am® H)
240 1 &, O THFT 3T (cm® H) G R

Ans X' 1.1536 Tt
V2 768 ©
<3 2304 Tt
X4 384 1

Question ID : 8161615351
Status : Answered
Chosen Option : 2

Q17 G 579 W 39F 9 o0 T 35% HOw T AR BT ST #1 AR SEg # e 20% @ oA
T &, ° 975G & fed #pw W T ge whne AW SfeT

\P-Hé%

Ans

X2 10§%

X3 15%
X4 12%

Question ID : 8161615311
Status : Answered
Chosen Option : 1

Q.18 cosec?30°sin45%+sec?60°

tan60°cosec?45°— sec?60°tan4s®
Ans o1 9 32

X2 23— 2)

V5 =3(2+43)

X 432+3)

FT AT AT HIAT|

Question ID : 8161615367
Status : Answered
Chosen Option : 4
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Q.19 fezr wrar § & ADEF~AABC ¥ ©ff AABC & &79%a 9 cm? 37 ADEF 7 &9%e = 12 cm? 3T
BC = 2.1 cm §, df EF & o= = fifew)

Ans
x84

T ——CIn

5
x - B2

—CIn

5
v 13

——CIn

5
K M7

——CIn

5

Question ID : 8161615341

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q20 o oo o w1 Fegad w1 AT AR R v wee & 3eaw &)
Revenue and Expenditure (In ® Crores)ofacompany XYZ from 2014-19

pfRevenvs g Expendiue

o 255
10 0

Amount {in crores %)
]

08 2015 2016 07 08 019

Years

® 99 # 3T (revenue), 2014 & 2019 & Sl Fu=T F 3Ha =@a (Expenditure) &

331% wferes o7
Ans  of 12018
X 22017
X< 3 2016
X 4 2015

Question ID : 8161615372
Status : Answered
Chosen Option : 1
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Q.21

secP(cosR+sinP)

APGRH /Q=90" ¥ o cot R=2 & & F I AT AT

cosec R (sinR —cosec P)

Ans 2

Question ID : 8161615366

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.22 faredr a7 @ 712340 & g9 W 9 o, T T108 F =T @ anehr @y Fr ufer & 20% v
TfE FFg #F ¥120.75 F F=0 T, A AA/ER WAwd A HAw|

Ans 1. E'I'ﬁ-'f 59,
V2 T 5%
X o gy 2.5%
X 4 o 2.5%

Question ID : 8161615309
Status : Answered
Chosen Option : 2

Q2 prcaRE s 160 kmFTH 5 R S Fa FE § AT S T A T F L wEd A
FAT &, A AW TAT F AV g F 99 F F B 385H 99 (kmh #) 79 Hifew

Ans x1_ 8.5
X2 8
X386
v 64

Question ID : 8161615318
Status : Answered
Chosen Option : 4

Q.24 A B 3 C #1¥ wU=90 F = &1 A & 39 F7 81 01 B & gy & I 9 v ww &
C % foder % 9/ 7 F wew B AR wF 9 915 Fo AT T155 AW, O A A B @
frrmr (3 9w #) A ST

Ans x1_ 45
X275
V35
X4 3

Question ID : 8161615313
Status : Answered
Chosen Option : 3
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Q25 e 28(2+tan®B+cot28)=(sin’f—tan’@)

(cosec?O+sec?8)(1+cot?f)?
s of 1 1
X2 =2
<32
X

FT AT AT FHAT)

Question ID : 8161615362
Status : Answered
Chosen Option : 1

Q.26 2 uaTeHs dEIHT #T AT 1280 ¥ S 997 GEAT S gedr ¥ Ranfea B e g & s
7 3T 9wher 50 9Tod EieT g1 SEr EEAT A rew|

Ans 1. 1458

#< 2 1558

V'3 1485

< 4 1585

Question ID : 8161615281
Status : Answered
Chosen Option : 3

Q.27

2 5in%38°sec®52°+cos 64° sin26°+sin’ 64°

FT A AF Fi=T]

tanZ23°+cot223°—sec?67°—cosec267°
Ans 3

Question ID : 8161615369
Status : Answered
Chosen Option : 4

P a3 —sx+1=0% @ (¥ +) T AE W HEw

Ans

1
1 2=
9

2
212
3

1
5 3.
3

1
K41z
3

Question ID : 8161615329
Status : Not Answered
Chosen Option : --
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Q.29 AABC &, <A T gfawme D W =T BC # gfa=ofed w3ar &1 afy AB = 12 cm, AC = 15 cm 3R
BC = 18 cm ¥, o BD #r &g Ag Ao

Ans o 18 em
<29 cm
/<396 cm
X475 cm

Question ID : 8161615339
Status : Answered
Chosen Option : 1

Q.30 foreir feemrem &, ot # TEw F1 - o R SR AT w5 §| o A GEw @ o R 10 a¥

T FF § AR wefed & e e D o 10 3 & #7413 10 8 71 sEe e g T ot &
WEAT 260 ¥, O Rgmen # osa f wewr 79 HfEw

Ans o 1300
X2 234
X3 280
X4 312

Question ID : 8161615286
Status : Not Answered
Chosen Option : --

Q.31 faredr wiw Ao F T3 TET &hA 3696 cm® ¥ SHHT ST sE Biear & A= T ¥ e b avear
(Frex #) 717 e (n=§ #

Ans X 1.29.75
v 2 25872
X 3 30.87
# 4 19.008

Question ID : 8161615357
Status : Answered
Chosen Option : 2

Q.32 ¢ RAfFTa TfEr 12% a1f¥e AT == &7 &7 9F 2 99 & 15,500 g S ¥ iy sy & e

ﬁaﬁaaﬁ%mwﬁm%ﬁﬁmmm%mﬂmawﬁ a¥ F e g st
(1 & forhean A= #)?

Ans X1 715,125
v 2 14,470
X 3 T14,360
X 4 T13,460

Question ID : 8161615303
Status : Answered
Chosen Option : 2
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Q.33 el wltew F Rgwem X ¥ Fo o1 ofET gU AW 30% OIF HeecT gl FE wdvem F Rewmem
xﬁ:m:ﬁaﬁraamﬁwo%aﬁmm,ﬁ?;me#anmagmwﬁxm‘(ﬁanﬁ’mg&?m
# F TEA & 80% Ieciivt T E, @ Y ¥ FFeaiol gT omal & Sfava A Fifew

Ans X118
<220
X3 24
v 16

Question ID : 8161615297
Status : Answered
Chosen Option : 4

Q34 cosA(sec A - cos A)(cotA + tan A) = ?
Ans 1. sin A

v'2 tan A

<3 sec A

X4 cot A

Question ID : 8161615361
Status : Answered
Chosen Option : 2

Q.35  As observed from the top of a light house, 1204/3 m above the sea level. the angle of depression of a ship sailing
towards it changes from 30° to 60°. The distance travelled by the ship during the period of observation is:

Ans

v
52

5 s

240 m
180 m

24043 m

<4 18043 m

Question ID : 8161615370
Status : Answered
Chosen Option : 1

Q.36 AABC &, D 3R E %#: 8= BC 3R AC % #ew fig 1 ofy AD = 10.8 cm, BE = 14.4 cm R AD
i BE FF*UT W G W Ifa=ofed Fd & df AABC & &9% (cm? #) AT Fifaw)

Ans X 1.80.64
X 2 5376
v 5 103.68
X 4 56.76

Question ID : 8161615338
Status : Answered
Chosen Option : 3
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@ AABC &, 2A - «B = 33°, zB - 2C = 18° &I

e & wed o ik wa @ HOT & e e A
Ans o 1. 125°

X 2. 108°

X 3. 143°

X 4. 92°

Question ID : 8161615336
Status : Answered
Chosen Option : 1

Q.38 frw =v Tmw FT emEE P 3R A BT T v F seaw &
HUAr & i AR (A, B, C, D 3T E) # & o 18 et o e (@ )

mA uB sC «D =E
Fatenfal F1 Fe HET = 3000

fasmer B 3 st Fr wwan, Remr D s E # F9 F aro sAaiEt B oo e & e

gierera §7?
Ans X 1. 45.8
X 2 504
73 486
v 492

Question ID : 8161615376
Status : Answered
Chosen Option : 4

Q.39 orfir, 35,000 F1 & & A TEGY AT §, W AF-GA F 1 A @ @ § A A & ey @ &) IR o
a’&_gmg% #r @fer ox 3= o8, o gElr avg frae wnw oy ash e

x 1 1s§ %
v 2 25%
X 3. 24%
X4 182 %

Ans

Question ID : 8161615306
Status : Answered
Chosen Option : 1
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Q.40 fy et 519 Fehr 3o F IR Fr eI F 20% Fr IRT @ AR S & 30% Fr w A g
ar smaEa # g8 ufonra FRywr W A

Ans X 1. 2% AT
X2 2% i
X3 0.8% AT
v 0.8% I

Question ID : 8161615356
Status : Answered
Chosen Option : 4

QA1 iy =g # ar o=t # s 3 om #R 10 om F1 WA TS & el & at @ A
T FfETI

Ans X 1109 em?
/< 2169 cm?
< 3. 206 cm?
v 4 218 cm?

Question ID : 8161615346
Status : Not Answered
Chosen Option : --

Q42 AABC #, 2C = 90° ¥1 5T AC ¥R BC W Mg P it Qgm e § &

z 2
AP:PC=BQ:QC =1:2¥1a 20—, _ % swax gem

Ans a

r R0
&2

v

Question ID : 8161615334
Status : Not Answered
Chosen Option : --

Q.43 ur=m A 3l B, frd Z@r # waer 43.2 fme 3T 108 e # W wEw §) 97 ¢ =¥ 3 Fevfame
Fr &7 T GET F Tl §1 FG S BT TH AT T S E, a9 F & #r 54 e # @ §
Fr emFEar (e #) 7 Fifw

Ans <1160
< 2 200
v's 216

<4180

Question ID : 8161615322
Status : Answered
Chosen Option : 3
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Q.44 APQR #, 2Q = 84°, zR = 48°, S T PS | QR ¥ 3 4P 71 gRe=s T 0T QR & e &1 25PT
T AT AT ST

Ans 1 18°
X2 12°
X 3. 24°
X4 21°

Question ID : 8161615337
Status : Answered
Chosen Option : 1

Q45 5 0203%2.92 _ (1212)%-(8.12)%

0.7x0.0365x2.9 (0.25)24(0.25)(19.99)
Ans X1.0.1

V2. 0.05

X 3 0.01

<4+ 05

FT AT AT FITATI

Question ID : 8161615284
Status : Answered
Chosen Option : 2

Q46 ey siw Rew &7 MUK 5 cm o= arem o afdd seo= 31 aR gwedr F9r§ 1293 em 3, &
THST HAAA (em® ) Ag HifET)

Ans o 11350
< 2 875
# 31800
# 4. 900

Question ID : 8161615348
Status : Answered
Chosen Option : 1

Q.47 35500 Fr TRr T =AEF 15% & § 2 a9 F FoT Tl S A HITST, T ;S AU T
8 TS R THgfE FUR A S

Ans X 1. ¥1,850
v 2 31,820.50
< 3. 31,880
X 4. %1,773.75

Question ID : 8161615304
Status : Answered
Chosen Option : 4

https://ssc.digialm.com//per/g27/pUbl 2207 touerstbre/hssssshaftar Tl nete V2207026 Me/z20 7026140k 014 12/16058569143275372/...  13/28



11/27/2020 https://ssc.dig@owﬂmmmdg@opapmtgnympppwmﬂ@mqq@)@%q%g@zwozo11931 D1414/16058569...

Q.48 T arv 77 @ A Wi AR A9 Ru 7T wvF #7 sew &
Revenue and Expenditure (In ® Crores) of a company XYZ from 2014 - 19

sfeerue g Expendiure

Amount [in crores ¥)

214 215 X016 w17 008 w18
Years

2015 31X 2017 & Fa 37 (revenue), 2016, 2018 3 2019 F F9ar F Fo =77 (Expenditure)

Fr fraer afeea ¥ (ST F 915 U T g% 0T F)?

Ans X' 1. 86.5
<2 86.3
23 89.1
v 882

Question ID : 8161615374
Status : Answered
Chosen Option : 4

Q.49 f2v =17 TF F eI HP AT FE /O 0 g9 7 537 &

R I HEIATST & ol hdl
HLSH BT facoT (31 HFaR)

AT S wET

1ommmaﬁ:f‘i§1aﬁmm§mmﬂm, 50 =¥ or 3@y ufEs AfFa 80 Iy
¥ & g T A & e & e s e £
Ans X 1. 25
X2 34
X3 302
v 275

Question ID : 8161615371
Status : Marked For Review
Chosen Option : 3

Q.50 ABCD & WP Ige= &1 R&0T BD 3T AC vF g@t & E W Wiowoied & §1 7% «BEC = 128°
R £ECD = 25° §, @ «BAC & &7 @ @ifaw

Ans %1 §o°
X 2 98°
X 3 93°
v 4 103°

Question ID : 8161615344
Status : Answered
Chosen Option : 4
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Q.51 3fr sin34 = cos(A+10°) ¥, =1 3A =g F0T 3, T 2cosec 2 +6sin?34— 1 tan® 34 F1 =W TS
ERiELyl

Ans x 1. 5
¥ {

2. i

X 4

X s 17

v 4

Question ID : 8161615368
Status : Answered
Chosen Option : 4

Q.52 it v Rrofde & 3R 10 em =T =T T §) ol sEE FE 10 em A T T oA
#9%ar (cm? #) g FfET

Ans %1100
v 2.100+/5
X 3 5045
X 4.100(vV5+ 1)

Question ID : 8161615349
Status : Answered
Chosen Option : 4

Q.53 ey et @7 3o, GX 4 3 AU §1 S e F 5 Sivsr o # 3K AT § 2 werw S ¥, A e o
F I ¥ T A e A 51 ¥ Fnfaw R s 8 @ g e e Sifaw

Ans 1
JLE

1

Xz.i

2

Xa.g

3

?{4.a

Question ID : 8161615288
Status : Answered
Chosen Option : 1
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O [2orztx12- (32-22)]+ (32 + 42 of 52) 77 w7 B
Ans 1
< 7
v 210
1
<3 i
<415

Question ID : 8161615285
Status : Answered
Chosen Option : 2

Q.55 g1 o Fecir dorer B eIt F7 e 3 ¢ 2 ¥ AN 3 HEe H A 27 ¢ 16§ 3
SR F AT A Hee

Ans of 1.3 : 4
K24:3
X39:8
X48:9

Question ID : 8161615358
Status : Answered
Chosen Option : 1

Q.56 == 1062, 1134 3 1182 #' a8 & 9% &AW « ¥ snferg Bar =1an &, & 9e3% A= & awEa v
e @ & (x — ) W A A e

Ans X116
<217
v's 18
X419

Question ID : 8161615282
Status : Not Answered
Chosen Option : --

Q.57 @ = =g avg BT Arm W dEeT 20% @ @ g §) Ofy aF avg @ 8 sk wfew # deh &
IH 30% FT A G| W E 16 TEGH F AF FI Hed AT HiAv

Ans 3 1%1,152
v 2 31,280
X3 1,200
X 4 71,120

Question ID : 8161615308
Status : Answered
Chosen Option : 2
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11/27/2020 https://ssc.digiabmygomilReria2 Tiplb/220 Royshstané/Assessmem@RHTMEM e 113204G2019/2207020119S1D1414/16058569...

Q58 (2. 4% 0.6%3x0.16) X[0.27 X (083 = 0.16)] F AT AT HfT
Ans X 1.0.814
X2 011

Question ID : 8161615283
Status : Answered
Chosen Option : 4

Q.59 A 3k B wHW fom, THEW WY W FET T X HT Y ¥ vF @ B W T oF W A
e, B & =mer ¥ 20% m%\uﬁﬁﬁaﬁ#aﬁ,AsﬁTBaﬁrmnY}ﬁrxaﬁ:q’gﬁﬁﬁmrz

p AR 7 o W § p F AW wE S
Ans o f 1B

X245

X355

X4 6

Question ID : 8161615320
Status : Answered
Chosen Option : 4

Q.60 a6 1 3+2y2  3-242
4—8 | 3-2yZ 3+2v2

X 99%
<2 97
/< 3 98

1
v 4 98E

a+by2 g, @ (3a+4b) FT AR AT HiaT]

Ans

Question ID : 8161615291

Not Attempted and
Marked For Review

Chosen Option : --

Status :

Q.61 I F T T wafed 7 66° % ¥ I 3FH W Ay Fled F 30% Fr FET 31,25,000 &, A
TUfeT * 45% Fr FAT (T H) 79 Hrawl

Ans 1. 2,62,500
< 2.2,70,000
< 3. 2,25,000
W 4 281,250

Question ID : 8161615295
Status : Answered
Chosen Option : 4
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Q.62 742 5fy kg Fwva a1 freet kg TS F B0 I kg FFT A 72 kg T &y e e,
i afromeT s i 353,10 9 kg F =T ¥ ST 18% w o AfET TR =T we

Ans x1_ 8
<29

: 1
v 122

1
x4 102

Question ID : 8161615315
Status : Answered
Chosen Option : 3

Q.63 gz 3y 4 when el = F 7 fGF # #v wwd € 90 2 o9 it 1 AR swoEm A 14
o & = T &1 T Afge 3 I B e Gw & 9w s

Ans i g far
v'2 10 e
K39 ﬁ;r
X412 fea

Question ID : 8161615323
Status : Answered
Chosen Option : 2

Q.64 X siiv v, 3: 5 & I = & WY WY FT &1 5 TS A, X FA G F 50% v §
A Y FIAT I F 60% TweRerar E1 36.84 A F A aney H X F w3 A H) A
EniE Ly

Ans X1- 3.6
V2 372
X3 42
X4 312

Question ID : 8161615314
Status : Not Answered
Chosen Option : --

Q.65 A3k B & Afts I A T 3 5N TR TE W oAagmT 2 3% AW B Hrwmm A Hr
F99 % A T WA g, af A HT B & T F s 7e B

Ans X1 5:8
x<23:7
vs38:15
X471

Question ID : 8161615301
Status : Not Answered
Chosen Option : --
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Q.66 & cm aEw T=aT A AR e A T T 6688 g ¥ AR urg W wEe 105 g Wy em?® §,
ar = Fr A T fieT

=39

Ans X 1. 4 em
x 2 2% cm
<33 cm
v+ 2 ecm

Question ID : 8161615354
Status : Answered
Chosen Option : 4

Q67 i a+b+c=6,a+b®+c*—3abc=342% @ ab + bc + ca & AT AT BT

Ans X1 _§
X238
X35
v -7

Question ID : 8161615330
Status : Answered
Chosen Option : 4

Q68 R amam ¥ x® —34x*+1=0,x>0,ar (x* +x3 ) N AFAF HITY
Ans x1_ 5‘\!6

X 2 6V6

V'3 5V8

X 4 68

Question ID : 8161615331
Status : Answered
Chosen Option : 3

Q.69 e IX & ¥ A T B & 90 orEh # 0T F g THIT 63 B ¥ A F o H gEdn, g
B & ol & Fmw & 10 #fvw | d9uw A ¥ ot F AT e, S99 B F ot & gee # 30%
Ao ¥ ¥ B F B ¥ iwa 3w we S

Ans ?(1- 50
X< 2 60
# 3 56
v 4 54

Question ID : 8161615326
Status : Not Answered
Chosen Option : --

https://ssc.digialm.com//per/g27/pUbl 2207 touerstbrie/ssssshaftar i nete V2207026 Me/20 7026140k 014 12/16058569143275372/...  19/28
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Q.70 gyar, #% e 3uR w5 § R T I 35,547 B & TAE A Reedt F sterh ¥ s &

U AT TR HIUR 9T T S §, A A & 72 % A g, o 36F @ sFTae R
Fl =TS AT FAT|

Ans o 1. 31,134
~ 2 31,126
<3 31,144
< 4 31,096

Question ID : 8161615305
Status : Not Answered
Chosen Option : --

Q71 8x+3y=242x+8~y 3N x-307 F M I AT Fugw F7 o (T s ) @ Hfw)
Ans  of 1 2g

<224

X3 15

X414

Question ID : 8161615333
Status : Answered
Chosen Option : 2

Q.72 Ffr 27(x+1)* —8(x—¥)* = (x+ 5 (A2 + By2+ Cxy) &, & (4 + B- C) =1 &= 719 Faw)

Ans X113
<211
v': 16
X418

Question ID : 8161615327
Status : Not Answered
Chosen Option : --

Q73 3 - 180f3 Xx6+21X6+18-3+243-3=90f3 X9 & AT AT P=TI
Ans 41
X1.?
47
6
29
6

35
4. 5%
“ 9

v

5 3

Question ID : 8161615279
Status : Answered
Chosen Option : 2

https://ssc.digialm.com//per/g27/plnl2207Itduerstbrle/hssesshadtormThitmais V2207026 MoRidroa01os 014 14/16058569143275372/...
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Q.74 Ilﬁ.'gz = %, & a, b 3R ¢ uATES iF § G @a- b + 30 F A AF Hfew

at

t-3

Ans x4,
&2
v
4

~ 0 = 3

Question ID : 8161615287
Status : Not Answered
Chosen Option : --

Q.75 Ffx 250 =T (x + 20)%,220 F x% T 25% 3118 &, & (x +50) 1 10%, x F 15%

T fraer gfoera &5 geme?
Ans 2
v 1 16=
3
1
X2 8-
3
I
X 3 33=
3
1
X4 13=
3
Question ID : 8161615294
Status : Not Answered
Chosen Option : --
Q.76

sinB[(1—tanf)tanf+sec?8]

(1—sinf) tanB(1+tand)(secf+tand) ' - % I

Ans X 1. cosech sech
<2 -1
< 3. sinB cosH
v

Question ID : 8161615360
Status : Not Answered
Chosen Option : --

Q77 s R s FRr4n affF m  rR4 T FRvsh afF w7 ¥ F a2
12% 1% & W 3uR & =dr &1 Ffg 11 99 &7 @&t &, 9rog §eRoT <4e, 327,600 ¥, & ufEr
 #) 79 Hifem

Ans X 1. 25,000
< 2. 27,000
/< 3 32,000

v 4 30,000

Question ID : 8161615302
Status : Not Answered
Chosen Option : --

https://ssc.digialm.com//per/g27/pUbl 2207 Itdseastbrie/besesshhartoriTiiMGts V2207026 1Mo/220 702014087 D14 13/16058569143275372/... 21728
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Q78 oFg g A, BCAT I BCHF AT R Ao R gD iAo ¥ &
+DBC = 28° T BD = DC g1 «BOC = AT A7 Hifaw)

Ans of 1 112°
X 2 98°
X3 84°
X 4 96°

Question ID : 8161615343
Status : Not Answered
Chosen Option : --

v3888  \7e8 179 & %I

Q.79
i = (\fm?s . 1.1'1200) ” \f’Fs; 3 Jx

Ans

r S0

&2

;‘m ;|.ﬂ Ol ol w;

Question ID : 8161615289
Status : Not Answered
Chosen Option : --

Q.80 40 km #r gy AT A F, A F B ¥ 2 wE H0F vy F| I A HIH = B G F L, A ST

80 km 1 gff 7w F= # B ¥ 1. =¥ 3w v #1 90 km F g 7@ I F e, B # yoen 3w
e ¥ fraar gAg w@em?

1

3

A

1

<3 1;

1

< 4 15

Ans

a8 4§

Question ID : 8161615319
Status : Not Answered
Chosen Option : --
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Q.81 A ik B airelt 1 Fezrad &1 dvwe 14 cm &, A &1 B B & fewn @ 98 &1 599 To8w swwat
& @7 1 3 112 7 81 A 3R B & aal & e W S

Ans X 1.8 : 1
<2125 : 64
v's 64 : 27
X427 :8

Question ID : 8161615352
Status : Not Answered
Chosen Option : --

Q82 zfr (10a% +4b%): (11a®—156*)=7:5 & o 3a + 5b): (9a — 2b) = ?

Ans X 1.5 : 4
v'210: 13
X33:2
<48:7

Question ID : 8161615298
Status : Not Answered
Chosen Option : --

Q.83 Rw 71T T FT HeTTA FL HW AR BY 70 g9 F 501 &
FYAT ¥ T T (A, B, C, D H#T E) # FIH T TE SHATRET @7 Ao (e #)

wA 2B aC D aE
FeEiEr & der HEar = 3000
fasmr A 3R C # 1 w5 A FAMNRT F1 Fa w7, FeEr B 3R D F w1 F T FAE H

To TEAT W x HOF F1 v F AW e d gem?

Ane X136 344
v'2 44 3T 52
#3520 3k 28
74 28 3k 36

Question ID : 8161615375
Status : Not Answered
Chosen Option : ==
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Q.84 fomr v g Fr T Hg FT AR 52 Y ¥ 3@ T IR 9§ A, T Fr g, v oy
# L a0l 3w ¥ 10 a¥ e, g 3R R A 3G F IS F @

Ans 1.3 = 7

K22:5

vs31:3

<43:8

Question ID : 8161615292
Status : Not Answered
Chosen Option : --

Q.85

cos®0+sin®8+3sin0 cos?0

cosecBsect (sinf +cos8—1)(sinf +cosf+1)
Ans x 1.1
X23

<32

1

-

2

FT HAH AT FIT=T|

Question ID : 8161615364
Status : Not Answered
Chosen Option : --

Q.86 = x 1 9, 15, 21 AR 31 F ¥ vedw F Fher e &, & IoF FEAW TEGTS A @ § FTEw
(3x-2) At (5x+4) F @7 Feagaa 7@ Ffewl

Ans X142
v'2 35
X320
24 30

Question ID : 8161615299
Status : Not Answered
Chosen Option : --

Q.87 yfm, sifhT Fpw W 12% e &7 & a1g FoRel a%g ' 1369.60 F d9w &1 AR WA w1 gE A A
2 & 3 20% FT AN BT TEG FOFT He¥ TS HAC

Ans  of 1 F350
X 2 %380
X 3. 7400
X 4 320

Question ID : 8161615312
Status : Not Answered
Chosen Option : --
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Q.88 farr arg &7 3T WET, 3WF FT AFW  40% 3w ¥ o s R aew, e mEw o 7329
o o e A= A

Ans X 1. 2.4%
X2 31%
v 29%
X4 27%

Question ID : 8161615310
Status : Not Answered
Chosen Option : --

Q.89 fagir 3w Fwer FT F=1 30 om ¥ 3T EE U F =@ 10 em ¥ 9@ 5 om f¥=mw st 12 em
¢ ¥ 2 TA dEEeR g frr s ¥ 9w o w1 AT & e (em? #) 7F #f3v)

Ans X1.230 T
v'2 430 1
X3120
X4 330 1

Question ID : 8161615355
Status : Not Answered
Chosen Option : --

Q.90 A 3 B, vfEw v 9=l & foms #1 A 3t B & o 3t offs &1 s w4 05 w1 c 2
T OE AF x WX F B F v e F wry fFemm e &, & Faor F o AW ofes & s
8 : 13 g e 1 x: y AT Ffw

Ans X 1.5:86
X22:5
vi3:4
X42:3

Question ID : 8161615316
Status : Not Answered
Chosen Option : --

Q.91 xfy 5 3= I Hwear 535ab, 3, 7 3K 11 T Rav=w &, & (a®— b2 +ab) F A A8 FHaT
Ans X4 77

< 2 89

<3 83

V4 95

Question ID : 8161615280
Status : Not Answered
Chosen Option : --
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Q.92 30 km/h Fr T F =TT T 287 m T ToENS, A fERm & 37 kmvh F T ¥ = wr gEd
RS 18 T H 9N HIAr §1 gHLT RS FT Es A A

Ans X 1289 m
<228 m
v 298 m
<4 300 m

Question ID : 8161615317
Status : Not Answered

Chosen Option : --

Q.93 AABC 3fft ADEF @ 9fYATT Faer: 43.2 em #T 28.8 cm ¢ 3w AABC~ADEF #| afg DE = 12 cm §,
@ AB & waE T Ffem

Ans X 1. 20.4 cm
<2 20 cm
/<3184 cm
v 418 ecm

Question ID : 8161615342
Status : Not Answered
Chosen Option : --

Q.94 F7 umrers T oy AT 2 31 T Bnfea e Srer & & Fen 17, 24 3l 27 wme g g
B T (4x—2y+3z) w31 ¥ fenfea R Saw §, & 9og Avee AT FifET)

Ans X116
<219
X3 9
v 8

Question ID : 8161615278
Status : Not Answered
Chosen Option : --

Q95 15 cm fysar T B wfess AT B REeTT AT § 3T BT 99 3 cm Ror T AEwR
g 7% A § A e % AT s 3 W fEl & A S ea & AR & A

AT HifaT)

Ans X' 1.3 : 40
X25:27
v31:5
X41:10

Question ID : 8161615353
Status : Not Answered
Chosen Option : --
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Q.96
( 1 1 ) 1 - 1 =2

cosf sinf cosecB—cotf secB+tanf

Ans  of 1. secB cosech
/< 2 sind tand
< 3. cosech cotd
# 4. sinB cosH

Question ID : 8161615363
Status : Not Answered
Chosen Option : --

Q.97 R a7 aF F HeITA HY AN A BT AT W= F Fead &
Revenue and Expenditure (In ® Crores) ofa company XYZ from 2014 - 19

mRsverue @ Expendiue

255

Amaunt (in crores ¥}
&

fhaet ast &, 3T (revenue) WiaRG & & & o (3 I(revenue) - TT(Expenditure)),

25% T T a1?
Ans “1_ 2
<23
<34
X a1
Question ID : 8161615373
Status : Not Answered
Chosen Option : --
Q.98
1-tan?6
= — = 2
afg seco = b;é{}%'?ﬂ'zﬂnzg ?
Ans J,] az(zbz P a?.).
- b?(al + b%)
x 2 a®(2b* +a?)
’ b2 (az . b?.)
X 3 a®(2b* + a?)
 b%(a? + b?)
b2 (2b% — a?)

4, g e e &
a*(a?+b?)

Question ID : 8161615365
Status : Not Answered
Chosen Option : --
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Q99 A B @ 80% s ¥ 3k C, A #T B & TrTHa ¥ 482% FA I C, A ¥ Rrew vt F 2

Ans X 1. 25
X215
X3 30
v 20

Question ID : 8161615293
Status : Not Answered
Chosen Option : --

Q100 »fr 9242 =37 3R xy = 2,5, y>0 & & Q73 +y?) & A 7 F Fw)
Ans X 1. 207

< 2. 301

v 217

X4 259

Question ID : 8161615328
Status :'Not Answered
Chosen Option : --
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